&[] 1] 45 S ) 8 7

LRSS
QEREEMER
ARG 4 6 8 10 12 16
ZHK (m) a4 a6 28 210 @12 16
©LAg
el UNILEEAY 55° HEEIRLYL 55° HEIRL

%E M5 M6 01 02 03 04 GO1 G02 G03 G04
Mg |M5X0.8) M6X1 | R1/8 | R1/4 | R3/8 | R1/2 | G1/8 | G1/4 | G3/8 | G1/2

@ FRRE
T SMBLURINE T (ML
B LERGL SGEE B

ON\—FFEMN, ESRE  ARFEEAN, ESTRE.
@RI MENT LK.

[EEPE =5,k (M
TEEHERE 0~1. OMpa
FREZED -100Kpa(10Torr)
TEREEE 0~60°C

CVPC/CVPF/CVPL

MR GUR [

BEFa MRy
CVPC/CVPF/CVPL-B
ME T m2
S 5] S BR &L

B£/Nylon Tube
PU%/Polyurethane Tube
e (BERE)
BE (#8%) Sleeve(POM)
Collar{Zinc)

B #HRH (FEW)
B ( BRPEE) Lock Claws(SUS)
Back Ring(POM)

THE ( THEE)
BIEEE ( SR ) . Packing(NBR)
Back Valve(Brass) h

R (R )
W Metal Body(Brass)
Valve Spring

F
ORE ( THE®AL ) Valve
O-Ring({NBR)

42




EA (o] HR] kR S A B

Series

CVPC-R B [a/H A%

S @D R L1 L2 L3 P @

i CVPC4-M5(B)| 4 M5X0.8 | 3.5 185 | 15 10 12

CVPC4-M6(B)| 4 M6X1.0 4 19 15 10 12

- CVPC4-01(B) 4 R1/8 7.5 21 15 10 12

o 1 CVPC6-01(B) 6 R1/8 7.5 22 16 12 12
CVPC6-02(B) 6 R1/4 10 25 16 12 14

1 CVPC8-01(B) 8 R1/8 7.5 25 18 14 14

:' CVPC8-02(B) 8 R1/4 10 275 | 18 14 14

CVPC8-03(B) 8 R3/8 10.5 | 28,5 | 18 14 17

cvPc10-028)] 10 | R4 | 10 | 30 | 20 | 17 | 17
CVPC10-03(B)] 10 | R3/8 | 105 | 305 | 20 | 17 | 17
CVPC10-04B)] 10 | R122 | 135 | 34 | 20 | 17 | 21
cvPCc12-03(B)] 12 | R3:8 | 105 | 34 | 23 | 20 | 17
CVPC12-04(B)| 12 | R1:2 | 135 | 345 | 23 | 20 | 21

CVPC-G B[O E A% in
I @D G | L1 || |er @
: CVPC4-GO1(B)| 4 | Gl/8 |55 | 21| 15 | 10 | 14
[Ij CcvPC6-GO1B)| 6 | Gi/8 |55 |22 | 16 | 12 | 14
e CVPC6-GO2B)| 6 | Gl4 | 65|25 | 16 | 12 | 17
1 CVPC8-GO1(B)| 8 | G1/8 | 55| 25 | 18 | 14 | 14
e CVPC8-GO2B)| 8 | G1a | 65 |275| 18 | 14 | 17
= CVPC8-GO3B)| 8 | G3/8 | 75 |285| 18 | 14 | 20
cvpc10-o2(B)| 10 | G144 |65 |30 | 20 | 17 | 17
CVPC10-Go3(B)] 10 | G3/8 | 7.5 [305| 20 | 17 | 20
CVPC10-G04(B)| 10 | G2 | 10 | 34 | 20 | 17 | 24
CVPC12-G03(B)| 12 | G358 | 75 | 34 | 23 | 20 | 20
CVPC12-G04(B)| 12 | G2 | 10 [345| 23 | 20 | 24

CVPU BEEE&

BS @D L1 L2 oP

CVPU4 4 43 15 10

CVPUG6 6 46 16 12

CVPU8 8 53 18 14

CVPU10 | 10 61.5 20 17

CVPU12 | 12 67 23 20.5

43 GINIER



% 1) ]

Series

R K AR

CVPL-R &1L B 182K i
B @D R L1 L2 L3 | L4 | opP @
CVPL4-M5(B) 4 M5X0.8 | 3.5 | 185 | 35 15 | 10 | 12
CVPL4-M6(B) 4 M6X1.0 4 19 35 15 | 10 | 12
)’ CVPL4-01(B) 4 R1/8 75 | 215 | 35 15 | 10 | 12
CVPL6-01(B) 6 R1/8 75 | 225 | 37 16 | 12 | 12
CVPL6-02(B) 6 R1/4 10 25 37 16 | 12 | 14
CVPL8-01(B) 8 R1/8 7.5 25 44 18 | 14 | 14
CVPL8-02(B) 8 R1/4 10 275 | 44 18 | 14 | 14
- L3 - CVPL8-03(B) 8 R3/8 105 | 285 | 44 18 14 17
1Tﬂm{ _D[ R, CVPL10-02(B) 10 R1/4 10 30 53 | 20 17 | 17
el e CVPL10-03(B) 10 R3/8 105 | 305 | 53 | 20 | 17 | 17
l.. " ___[ : CVPL10-04(B) 10 R1/2 13.5 34 53 | 20 17 | 21
CVPL12-03(B) 12 R3/8 10.5 34 |565| 23 | 205 17
CVPL12-04(B) 12 R1/2 135 | 345 | 565 | 23 [205| 21
e

p Bs @D G L1 L2 L3 L4 aP @
‘ li" )’ CVPL4-GO1(B) | 4 G1/8 5.5 21 35 15 10 14
o § CVPL6-GO1(B) | 6 G1/8 5.5 22 37 16 12 14
\v-—‘ CVPL6-G02(B) | 6 G1/4 6.5 23 37 16 12 17
@ CVPL8-GO1(B) | 8 G1/8 55 24.5 44 18 14 14
" CVPL8-G0O2(B) | 8 G1/4 6.5 25.5 44 18 14 17
L3 CVPL8-GO3(B) | 8 G3/8 75 27.5 44 18 14 20
C ] CVPL10-G02(B)| 10 G1/4 6.5 27.5 53 20 17 17
CVPL10-G03(B)| 10 G3/8 7.5 29.5 53 20 17 20
CVPL10-G04(B)| 10 G1/2 | 1025 | 32 53 20 17 24
CVPL12-G03(B)| 12 G3/8 75 30 56.5 23 20.5 20
CVPL12-G04(B)| 12 G1/2 10 325 | 56.5 23 20.5 24

pidh= R Rc L1 L2 L3 @

MBS [ RS

CVPSF01-01 R1/8 | Rc1/8 | 8 8 | 265 | 12

CVPSF02-02 R1/4 | Rc1/4 | 10 | 10 | 335 | 17

CVPSF03-03 R3/8 | Rc3/8 | 11 1 38 20

CVPSF04-04 R1/2 | Rc1/2 | 14 | 14 43 24

M RBESUTR SRS

CVPFS01-01 R1/8 | Rc1/8 | 8 8 | 265 | 12

CVPFS02-02 R1/4 | Rc1/4 | 10 | 10 | 335 | 17

CVPFS03-03 R3/8 | Rc3/8 | 11 1 38 20

CVPFS04-04 R1/2 | Rc1/2 | 14 | 14 43 24

44

GINIER



EA (o] HR] kR S A B

Series

CVPSF/CVPFS-G & [a) N SMEL B i@ 2R i

il G1 G2 L1 L2 L3 @

MINBLL 57 5] PIRE AL
CVPSFGO01-G01| G1/8 G1/8 55 8 26.5 12
& CVPSFG02-G02| G1/4 G1/4 6.5 10 33.5 17
‘ CVPSFG03-G03| G3/8 G3/8 7.5 1" 38 20
CVPSFG04-G04| G1/2 G1/2 10 14 43 24

M AHESU R MRLL
J CVPFSGO01-G01| G1/8 G1/8 55 8 26.5 12
= CVPFSG02-G02| G1/4 G1/4 6.5 10 33.5 17
l CVPFSGO03-G03| G3/8 G3/8 7.5 1" 38 20
CVPFSG04-G04| G1/2 G1/2 10 14 43 24

CVPFF [ NI24 B i@ & i

il Rc/G L1 L2 L3 @
I | CVPFF01-01 [Rc1/8| 8 8 35 | 12
Ref : ﬁ. CVPFF02-02 Rc1/4 10 10 445 17
"__I CVPFF03-03 [ Rc3/8 1 1 50 20
5 L CVPFF04-04 Rc1/2 14 14 57 24
- CVPFFGO01-G01| G1/8 8 8 35 12
Y CVPFFGO02-G02 | G1/4 10 10 445 17
\_:R_cf I' :_ CVPFFGO03-G03 | G3/8 11 1" 50 20
l CVPFFGO04-G04 | G1/2 14 14 57 24

45 GINIER



